Spiel 1 Spiel2 ~ Gesamt

Spiel 001 13:40|A 1 AIGNER Ernst 48 + 40 = 88
A6 LEUTGEB Johann 23 + 24 = 47
Spiel 002 13:32|A2 PANHOFER Josef 51 + 58 = 109
A5 OLLERMEIER Fritz 54 + 49 = 103
Spiel 003 13:49|A 3 GRUBER Helmut 51 + 52 = 103
A4 HINTERSTEINER Hubert] 60 + 51 = 111
Spiel 004 13:57|A 1 AIGNER Ernst 49 + 48 = 97
A2 PANHOFER Josef 49 + 44 = 93
Spiel 005 14:05|A 6 LEUTGEB Johann 42 + 40 = 82
A4 HINTERSTEINER Hubert] 56 + 53 = 109
Spieloos  14:13[{A5 OLLERMEIER Fritz 49 + 46 = 95
A 3 GRUBER Helmut 48 + 54 = 102
Spiel 007 14:20/A2 PANHOFER Josef 59 + 52 = 111
A6 LEUTGEB Johann 29 + 31 = 60
Spiel 008 14:26|A3 GRUBER Helmut 53 + 60 = 113
A1 AIGNER Ernst 38 + 55 = 93
Spiel 009 14:33|A 4 I:IINTERSTEINER Hubert] 45 + 39 = 84
A5 OLLERMEIER Fritz 54 + 49 = 103
Spiel 010 14:40/A2 PANHOFER Josef 50 + 48 = 98
A 3 GRUBER Helmut 48 + 34 = 82
Spiel 011 14:47|A 6 EEUTGEB Johann 37 + 41 = 78
A5 OLLERMEIER Fritz 47 + 47 = 94
Spiel 012 14:54|/A 1 AIGNER Ernst 55 + 55 = 110
A4 HINTERSTEINER Hubert| 47 + 63 = 110
Spiel 013 15:02|A 3 GRUBER Helmut 55 + 45 = 100
A6 LEUTGEB Johann 39 + 47 = 86
Spiel 014 15:09|/A 4 HINTERSTEINER Hubert| 59 + 45 = 104
A2 PANHOFER Josef 51 + 50 = 101
Spiel 015 15:17|A5 OLLERMEIER Fritz 58 + 50 = 108
A1 AIGNER Ernst 35 + 42 = 77




